/NEDOFOF (BF)  JLUILOHPADE] D 5 (7)

H H a5 VALYt
(1) 1.8+9 = (9) 0.3+1 =
(2)35+5 = (10) 2.4+8 =
(3) 40+0.8 = (11) 5+0.5 =
(4)3.6+4 = (12) 0.4-0.1 =
(5) 12+0.3 = (13)0.6+3 =
(6) 1.2+0.2 = (14) 4.2+0.7 =
(7)0.7+7 = (15) 42-0.6 =

(8) 4.8+0.6 =

https://chugakujyuken-sansuu.com



/NEOFIDFL (W) SLILOFPHDOHE] O 5(7)

(1)1.849 =02

(2)35:5 =07

(3) 40-0.8 = 50

(4)36+4 =0.9

(5) 12+0.3 = 40

(6) 1.2:0.2 = 6

(7)0.7=7 =01

(8) 4.8+0.6 = 8

(9)0.3:1  =0.3
(10)2.4+8 = 0.3
(11)5+05 = 10

(12) 0.4-0.1 =4

(13)0.6+3 =02

(14) 4.2:0.7 =6

(15) 42+0.6 = 70
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